29. Match List -]

with List - II

(Electromagnetic wave type)
(Its association/ application)

29. gl -1 (faga grasta g IHR) H
et - 11 (379 wraifiga, sryeifin) 9 yafed

and select the correct option from the Hifa afix Y=t & 9 fod ™ faeed; q9
choices given below the lists - et fasey EIERE
List - I List - I1 et - I it - 11
Infrared To treat 1 et
@) nfrare () t0 .rea muscular @) = ) Wlﬁtl'ﬁ?'l?ﬂ fasfa
waves . strain abiss ¥ T % o
(b) |[Radio waves (ii) |For broadcasting (b) [XFet 7y (ii) [vEmor % R
To detect fracture : :
(© [X-rays i) |y [ETEEN 0 SrfRersin =
£ _ fb q-ferat :
, : Zb Onbesd by th i : Sl
, sorbed by the —
(d) ok (iv) |ozone layer of the ) RS (iv) TSR T SIS
Sk atmosphere [EZul X GRT STEYIyy
@ b () (@@ @ (b) () (d)
@M (v) @) @) ) M) @) @) G o)
@ @ @ @) i) @ O @ () (i)
®) @) @) @ () @G) @) @ @) (v
O ) (i) (iv) @) @ @) @) (v)
30. A student measured the length of a rod 30. U fa=nef 3 Th B8 EDl O%IWTsc R IEE X
WWHTEROCIASIES O Min. MATHSBInSLIHAG KARIYA BHQRA. PHONE (0253} 32,99.:000 0~
did he use to measure it ? ’ T 94T T ?
(1) A meter scale. (1) UF HieX et |
(2) A vernier calliper where the (2) T AR Ffead swf affr @hel &
10 divisions in vernier scale matches 10 91T 97 &het 9 9Fl 9§ foera €
with 9 division in main scale and 3R & & % 1 cm § 10 9 g
main scale has 10 divisions in 1 cm,
(3)  Ascrew gauge having 100 divisions @) T T U9 fags affgy W 7
in the circular scale and pitch as 100 97T § 3R {191 mm g1
1 mm.
(4) A screw gauge having 50 divisions 4) TF & I s afi @& H 50 9T
in the circular scale and pitch as ok fy= 1 mm ¥ |
1 mm.
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PART B — CHEMISTRY 9T B — TETEA fase
31. The correct set of four quantum numbers | 31. WW@(Z = 3%%%’&3@@%
for the valence electrons of rubidium atom % 3fa IR Fa=A TR w1 e da g
(Z=37) is : 23 L4 0 Hip4e 42
Mo,o,+— S M) 500+
@ 51,0+~ e (@) B0 e
T 2a ey o a2
@ 511+t Gped cg @45 5% 2
4 501, + % (SR 4 501, + % e Y)%> Y
¢ ‘ i iy
N9 , 0) D CW - ——
32 If Z is a compressibility factor, | 32. ¥fg Z ddred U B O FH T W @y p
van der Waals equation at low pressure TR R foran ST g g
can be written . n ,
f'MM)(v Nb) |~ nef ot @f&m fﬁ”?)
(@) 1+— ( B (1) z=1+E \/2
N-hh =1 V1 0
= a Ve
vRr VE ) @ Z=1- 7 y nET
& G |
3) Zl—& 9/__" (\/ \Q)f"\&f‘ 3) Zl—& /-Ng%
RT e RT Q’I
_\@/f=1+EE = a4 ‘”\10 “RAT @ z=1+2
RT HRT
= \J V 2/ @
3IWWILEEKQCLASHES COM o MATHS BY SUHAG KARIYA BHOPAL PHONE (0755).32 00 000
lattice. If “a’ is its edge length then which I 81 AfE for 1 o ‘2 B i Fre el
of the following expressions is correct ? H ¥ BH-91 3k '@"‘IT ?
(1) Tegt T Ig-=3a -(l[DF (1) + t+ 14
C Cl 3aa _____eﬁ\/RT, Tcs <V”"ﬂ9> m
Tt o Y @ ot
' 3 J§ - 01 =
MCS+ + o= —\/2—_a (3) I+ T Io-= I3 = 7’ W: — KT
) 1o +1y-=+3a &) o trg-=VEa A @74 Ab
\/ N
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34. For the estimation of nitrogen, 1.4 g of an

organic compound was digested by
Kjeldahl method and the evolved ammonia

M
was absorbed in 60 mL of —— 10 sulphuric
af The unreacted acid required 20 mL
10/

T —
3

sodium hydroxide for complete

5 0)(@

Sy

neutralization. The percentage of nitrogen
in the compound is :

6% bRx2xM — z*@\;m

“LMO % \/}/3 , R
@ 3% = 5. ke
4) 5% s
35. Resistance of 0.2 M solution of an

Lglectrolyte is 50 Q.
conductance of the solutlon is 1.4 Sm

The specific
-1

e

\/ L\, S
£ The resistance of 0.5 M solutlon of the same
M ~4 grewins
electrolyte is 280 Q. The molar

1\ duct1v1ty of 0.5 M solution of the
ctrolyte in S m2 mol ~ lis: i O
R it . .4
M 1) Sx10-4. bbX \
@) 5x1073 ( @
N © 3 x 10° 6 m
4y~ 5x10?

36. For complete combustion of ethanol,
' CZHEOH(I) +30,(g) = 2CO,(g) + 3H,0(0),
the amount of heat produced as measured
in bomb calorimeter, is 1364.47 k] mol 1
at 25°C. Assuming ideality the Enthalpy
of combustion, A_H, for the reaction will
WWW.TEKOCLASSES.COM MAKHS BY SUHAG

(R=8.314 kJ mol™ 1) WO} c
L1}~ 1366.95 k] mol~! \w/y
2) —1361.95 k] mol~! 7( 2R

—1460.50 kJ mol~1
—1350.50 kJ mol~1

)
(4)

36.

34, IS % ke & AT 1.4 T EACiEED

Aifiren St ﬁfa%wmmw

amgﬁ@mﬁmﬁéoﬁeﬁ 75 e h
ol H sraenta fwan T afa@mmﬁ?

oot SerdieRT & fag 20 feft 15 Hifezm

E@W@ﬁaﬂmglﬁrﬁmﬁm@m
! gfaeaar @ ¢
(94
6%

10% DH ”AUH\LN(
® 3% Q=AH +AD

4) 5%
T e oroEed § 0.2 M faera @ gl
50 Q 31 39 faega &1 fafre a@sd
14Sm-1 % sz forE@ 9@ % 05 M
frera 1 wfady 280 Q ¥ 1 foRqa oToEEd %
0.5 M fefefe @1 Hier dreshdl S m? A~ 1 A

Bl 27— €O

S -3 228D
(3) 5x10°

A=t
(4) ' 5x10? W Xi?ﬂ[l
il 3 ol e F e, R0
C,H;OH(]) +30,(g) = 2CO(g) +3H,0(D),
a9 FenHey & arfed 9 25°C W
1364.47 k] mol~1 &1 STEEial A §Y S
1 T, A _H, B \(/‘Q

KARIYA BHOPAL PHONE 0755 3200 0

(R=8.314 kJ mol™ 1)

(1) —1366.95 kJ mol~1
2) —1361.95 kJ mol~?
(3) —1460.50 kJ mol~1
(4) —1350.50 kJ mol ™!

(1)
)

35.

5x10~4
5x103

@)
(2)

E/Page 18
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37. The equivalent conductance of NaCl at | 37. ¥ =0 CH 3l 3= T W NaCl faeram
concentration C and at infinite dilution are 1 gl TTeshal &l Ac 3R\, A T
Ac and N, respectively. The correct TTRT ST T fer@n i W R
relationship between A and N\ is given Kc\ = C L : 7]

. _ (% ket

as : [~ e
(where the constant B is positive) (B T feeR 1% ©) %) " '

. ) A=A +(BC N = 5< k& (1) Ae=\, +(B)C ‘;

oo (2) Ac=hg —(B)C 7;0 /C-:- (2) Ac=Ar,—(BC @

Ac=h, y (3) Ac=r.—(B)JC
(@) he=h,, +(\TQ L= vt (4) A=A, +(B)JC 5K
\/38./C-onsider separate solutionilof 0.500 M 38. 0.500 M C2H5OH(\_S|'€1C\'€I), D> o (Q - ‘>DO

C,H;OH(ag), 0.100 M Mg,;(POy),(aq),
0.250 M KBr(aq) and 0.125 M Na,PO,(aq)
at 25°C. Which statement isTtrue about
these solutions, assuming all salts to be
strong electrolytes ?

0.100 M Mgs(PO,),(F&1d), 0.250 M
KBr(Seftd) 37X 0.125 M Na,PO,(Fefa)
forerarl 1 25°C W e S | |l Tl
F ya TFReEe 7Id gC e wu | 4
HIF-H FHF g § 2

They all have the same osmotic (1) =14« ¥ ferd emamifes T@ & A
pressure. THM B |
(2) O. 100 M Mg;(PO,),(aq) has the (2) 0.100 M Mgy(POy), (SSATF) *I
hlghest osmotic pressure. ATEHTfeH qd SHAH B |
(3) 0.125 M NagPOy(aq) has the highest (3) 0.125 M NayzPO, (SAT) T
~osmotic pressure. amremfes ae FSaH B |
4) 0.500 M C,H;OH(aq) has the (4) 0.500 M C,H,OH(Se™) 1
wwﬁ&b@tﬁéﬁ%ﬁé@ﬁﬁ%ﬁwngc, KARIYA BHOBRL PHONE (0725) 3306 000
: 1 :

39. For the reaction SOy + 5 Oy =503 | 39- AU, SOyg) + 5 O = Osg) & fau
if Kp=Kc(RT)* where the symbols have Kp=K(RT)* BT STareh! Tl Yk 318 HHT
usual meaning then the value of x is : e W § @ SeYRETa Hd Y x 1 A
(assuming ideality) \/ BN
1 -1 A 2 1 -1

e Kp=Ke @) o el
2 @) “
- £ 3 E
3) 9 (3) 2
4 1 @ 1
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40. For the non - stoichiometre reaction

40. wWEfTHRa fem fufFar2A+B > C+D A

2A+B — C+D, the following kinetic data < gue AT § 298 K R e e stias
were obtained in three separate EISACDRIDE
experiments, ali at 298 K.
|Initial Initial Initial rate of Tt JRFSTF C 513 = yRfy=
Concentration |Concentration |formation of C : " . 2 vt L-S—
@ @ (mol L-5-) N i B il )
0.1M 0.IM |12 x 10-° 0.1M 0.1M (1.2 x 107°
0.1M 02M (1.2 x 10-3 0.1M 02M 1.2 x 1078
02M 0IM |24 x 1073 02M 01M |24 x 107°
The rate law for the formation of C is : AT & T C a7 +1 <2 f9w & -
1) gﬁ =K[A] [B] o . <py Y'l] 1) % —xa] [B]
t o ¢ dt
o , , Ap | b dc
@ S =xapm B - K[ ll L N o =KIAP [B]
11X |
dc l L dc
() = =k[A] [B]2 (3) —- =k[A] [B]?
dt LLADS 'y L f )\ dt
7 9¢ 1 A] @ €y
dt : dt
:/IN

/_

41. Among the foliowing oxoacids, the correct
decreasing order of acid Eirff}?th 50 o
(1) HOCI > HCIO2 > HCIO; > HCIO,
(2) HCIO, > HOCI > HCIO, > HCIO,
\),39” HCI.(;}A > HCIO/3 > HCIO, > HOCl
(4) HCIO, > HCIO, > HCIO, > HOCI
'WW.TEKOCLASSES.COM  MATHS BY SUHAG
. The metal that cannot be obtained by
electrolysis of an aqueous solution of its

41. 199 e ot & ford oteer wifd &1 oot
A Y BN :
(1) HOCI > HCIO, > HCIO, > HCIO,
(2) HCIO, > HOCI > HCIO, > HCIO,
(3) HCIO, > HCIO, > HCIO, > HOCI
(4) HCO, > HCIO, > HCIO, > HOCI

KARIYA BHOPAL PHONE (0755) 32 00 000

42. 9T S HIF GG F Sorw faeEa &
soaefay (fag@ stueed) € yra & @

salts 1S : 0 ) ahdt Bl ¢ :
\/(J/)/ Ag H e C”Q_ 1) Ag
@ ca M CIb, v (2) Ca
4 (3) Cu 10 X (3) Cu
@ Cr \Jd; Ut 4) Cr
E/Page 20 SPACE FOR ROUGH WORK / T% &Td & faw e
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\4}/ he octahedral complex of a metal ion
M3+ with four monodentate ligands L,

——

Ly Ly and L4 absorb rb wavelengths in the
region of red, green, yellow and blue,
re;;e_c;lvely The increasing order of hgand
strength of the four 1_13&515 is :

@) hyisds Ty oy %i %ﬁ‘n}t,\
AL <L3<L<L4
3) L3<L2<L4<L‘('\/1 7LL>[/é

Ly <Lp<Ly<ls

\/ v, 0 P
ch one of the following properties is
’ not shown by NO?

%’ It is dlamagnetlc in gaseous state
2)
(3)

It isa neutral 0x1de /’\

——
It co;nblnes with oxygen to form

nitrogen dioxide

e —

(4) It's bond order is 2.5

WWW.TEKOCLASSES.COM MATHS BY SUHAG

45. In which of the following reactions HyO,

acts as a reducing agent ?
(a)
/(b)
© (9
~1(d)
(1)

H,0,+ 2H* +2e~— 2H,0 ~ L
ol /N

2 ‘ .

-~

o e
H,0, +2e~— 20H ey
H,0,+ 20H™ ~2¢ "~ G, +2H,0

g— ,>(' =N\

(a), () |
&

) () (d)
G) (@ ©

B @

A+

43. M3+m§37mmavqaﬁqmﬁﬁﬁﬁ

Ly, Ly Ly SR L, & @9 3T TR HhT
o, @, e ot Ao e § TR #
HHER ST 3 ¢ | =R el #i
RS ELEE

(1) Ly<Ly<L,<I
Gy P Loelaslychy
—1—(4) L <L,<IL <L,

44. NO HFH-T1 Fe 0 wefeld & & g2
et sraen # gfagehia €|
Iz T SSEH TS 2 |

g SiTRAe QA AL SEATIES
SR |

(4) THH T Fife 25|

KARIYA BHOPAL PHONE (0755) 32 00 000

(1)
(2)
)

45. = foa erfufsranstl & H,0, T6 SHEEF

%1 T T ?
(a)
(b)
(©
(d)
1)
2
®3)
(4)

H,0,+ 2H™* +2e~ - 2H,0
H,0,—2e~—> O,+ 2H 1
H,0,+2e™— 20H™

H,0,+ 20H™ —2e™ > 0, +2H,0
(a), (b)

©, @

(@), (©

(b), (d)

E/Page 21
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46. The correct statement for the molecule,

CsI3, is :

)

itis a covalent molecule

(2)

it contains Cs* and I ions.

p,,\\,o

it contains Cs3*+ and I~ ions.
e

®)

it contains Cs*, I~
molecule.

S

and lattice I,
R
The ratio of masses of oxygen and nitrogen

ina particular gaseous mixture is 1: 4. The
ratio of number of their molecule is *

1) 1:4 M;OZ :,_‘ J_
| Y
73 by
{ A
(3) 1:8 . ﬁ
T SUAY ™
(4) 3:16 A=
s S S
48. WUWVEREKQGIASRFBE RMr MATHS BY, SUHAG

Mn2+ +2e~ - Mn E°=-118 V

%‘” 2Mn2* +e~— Mn2*) ; EO= +151 V

46. Csl, 319 & ford genef e &

IE Ueh HEHASToh! 377 |

T Cs* &R I; T B ¥
TEH Cs3* R 1~ e B €
TEH Cs*, 1~ SR I, ST 2 ¥

(1)

47. T fqu g fago & sitedfor ik Tmeeem
F EEAE HSIE 1 4 %1 79 fagw A
TTeR! 370 WAt &1 eruTd anm
1) 1:4
2 7:32
B) 1:8
4) 3:16

Kf@YAﬁé%PéL %%%E g%%%)q_% ag%g%o:
Mn?* +2e~— Mn ; E°= ~1.18 V

2(Mn3* +e~— Mn2*) ; EO= +151 V

)
The E° for 3Mn2* — Mn + 2Mn3+ will be 3Mn2* — Mn+2Mn3+ & ferd gognm
kk_,
9 0 % —2.69 V ; the reaction will not occur (1) —2.69V; AAfufsran 7 Bt |
il S8 : )

232 - Q(2) —269 V ; the reaction will occrsmkd (2) -269V; afufear Enft
L/_’ —0.33 V; the reaction will not occur (3) =033 V; Afufsran =&t 2t

(4) - —0.33 V; the reaction will occur (4) —033V; srfufswan ”az’ﬁ ‘l')

E/Page 22
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49. Which series of reactions correctly | 49. TH Y arffranel 1 -4 %A gonef w9 H
represents chemical relations related to AR 3 S'Fl'aw‘ AR Bl gt wfsraneti
iron and its compound ? &1 frefad %3 ¢ 2
(1)  Fe dil HpSOs | peg0, H,S0,4, O, (1) Fe TH;50s | RegO, H,S04, O,
Fey (S04 )3 — 2 - Fe Fe, (S0, )3 ———Fe

(2) Fe 02, heat Feo dil HzSO4 (2) Fe 02, ™ FeO ?Fi HzSO4
FeSO, —=% , Fe FeSO; — ' Fe

(3) Fe MFeCl3M (3) Fe _Q;I_WLFegs_m_,
FeCly 22> Fe FeCl, —2* Fe

(4) Ko O,, heat Fe3O4 CO, 600°C (4) s O,, F63O4 CO, 600°C
FeO SO, 700°C_ go FeO S0, 700°C g,

T AR B M;Z:V%Av Fe .

50. The equation which is balanced and | 50. HRIO S Hfad 2 iR wened foman wall
WV, TEKQCLASSES QM rMATHS B SUHAG KARIYA BHGPAL BHONE (07565) 32 00 000

(1) Li;O+2KCl - 2LiC1+K,0 (1) Li,0+2KCl - 2LiCl1+ K0
2):- [CoCl{(NH,3)5] % +5H* »Co?* 2) [CoCl(NH,3)5]* +5H* »Co?*
+5NH; +Cl~ +5NH; +CI~
(3) [Mg(H,0)¢]2* + (EDTA)*" (3) [Mg(H,0)¢]2* + (EDTA)*"
excess NaOH [Mg(EDTA)]2+ NaOH &1 T [Mg(EDTA)]2+
Yo~ + 6HO + 6H,0
CuSO, + 4KCN—K,[Cu(CN),] (4) CuSO,+4KCN—K,[Cu(CN),]
+K,50, +K,S0,
E/Page 23 SPACE FOR ROUGH WORK / T% &md & fau <vte
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51 %I SN2 reactions, the correct order of

reactivity for the following compounds :
CH,Cl, CH3CH2C1, (CH3),CHCI and
(CHy),CClis: '

_—
(1) CHyCI > (CH3),CHCL > CH,CH,Cl
> (CH,),CCT <
N —
v (2}~ CH,Cl > CH,CH,Cl > (CH,),CHCl

> (CH,),CCl

(3)  CH;CH,Cl > CH,Cl > (CHy),CHCI

> (CH,),CCl

(CH3),CHCL > CHyCH,Cl > CH,Cl

> (CH,4),CCl US
g 8 £
e 75

(4)

Chy —0 &
\jz%)n heating an aliphatic primary amine
with chloroform and ethanolic potassium

o e s —
hydroxide, the organic comporlm—ff)rmed
1¥§./’\

(1)
(2)
(3)

\@/ an alkyl isocyanide

an alkanol
an alkanediol

an alkyl cyanide

WW.TEKOCLASSES.COM MATHS BY SUHAG
- The most suitable reagent for the
conversion of R—CH,—-OH- R—-CHO
is
(1)
(2) K,Cr,0O,

By Cro,
(4)

KMnO,
(() N7

PCC (Pyridinium Chlorochromate)

51.  FfiTRT CH,Cl, CH,CH,Cl, (CH,),CHCI 3R
(CHy),CClL &1 S 2 foran ® foram sheor =1
Sfad TR FA AR

(1) CH;Cl > (CH,),CHCl > CH,CH,CI

> (CH5),CCl

(2) CHyCl > CHyCH,CI > (CH,),CHCI

> (CH,);CCl

(3) CH,CH,Cl > CH,Cl > (CH,),CHCI

> (CHj),CCl

(CH3),CHC1 > CH,CH,Cl > CH,Cl
> (CH,),CCl

4)

tfarhfed g o 1 FA0wH ik
TYHIfAs NH eReEmEe F Y Wy w3
T AT IRATF N S &

52.

T Temmre
T TeherEa
(3) Uk Ufeerar foammEe

(4) TH Uferd AEHEIfFIMRES

KARIYA BHOPAL PHONE (0755) 32 00 000

53. R—CH,—-OH — R—CHO ¥ 9ga &1 Gord
ek S e B ¢

1)
(2)

(1)
(2)
(3)
(4)

KMnO,

K,Cr,O,

CrO,

PCC (fuftEifrm seiisnme)

E/Page 24
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154" The major 6rganic compound formed by
the reaction of 1, 1, 1— trichloroethane
with silver powder is :

dj,)/Acetvlene /C CV(Z
2) q, -+ Q_‘}/

Ethene
(3) 2 - Butyne

2 - Butene

(4)

WWW.TEKOCLASSES.COM  MATHS BY SUHAG

/5/ Sodium phenoxide when heated with CO,
under pressure at 125°C yields a product
which on acetylation produces C.

ONa 125° H~
- B >
@ + 002 5am ° AcO ©

The major product C would be :

O COCH,
o @»COOH

OH

COCH
O 3
() (:r

COCH,

3

OH
(3) @COOCH3

O COCH,

P9[0 o

54.

1,1,1— TEFAREAA % foeer TRet & i
foF 9 | gaQ 99 "7 § o AR
ATk B R

wfafee
BRIk

1)
(2)
(3} . 2 - oFFie

(4) 2- =M

KARIYA BHOPAL PHONE (0755) 32 00 000
55

Hifery FaEEREe H1 99 9@ 3T 125°C W
CO, & arfufsran HTH T S ATk yrt e §

O Tfafecred W fHa ®a C 2@ Bl
@ONa 125° - FT 2
+CO2 5Atm © A0
=t ar # foman e C 2
O COCH,
(1) @ COOH
OH
COCH;
)
COCH,
OH
3) @ COOCH,
O COCH,

o @ COOH

E/Page 25
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56. Considering the basic strength of amines | 56. it faeram H T T R gfa * SR
in aqueous solution, which one has the frefafed & @ foags ol pK;, &1 A %H
smallest pK; value ? Q%9 g ?

Py A
(1) (CHs),NH })W g/\\z (1) (CH;),NH
(2) CH,NH, (2) CH3NH,
U= 0 &
oy cgn P! 4 f ”’ by ATRCRREERAY
< .(4) CHZNH, M’? 3 P ¢ (4) C.HNH,
E
WWW.TEKOCLASSES.COM  MATHS BY SUHAG [KARIYA BHOPAL PHONE (0755) 32 00 000

57. For which of the following molecule | 57. = 4 3 f¥yg 3] ¥ fea ggd T 9% pz0

significant p=0 ? g ?
Cl CN Cl CN
0@ 0@ | b O @
&l CN Cl CN
OH SH OH SH
0@ 0 © 0D 0 Q
"OH OH SH
_ A5 Only @) W @
(2 (a)and (b) @  (a) 3 (b)
(3) Only (c) (3) A (o)
(4) () and (d) 4 (9 3R ()
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/

/58.

; polymer ?

S o

Dacron
(2)

Which one is classified as a condensation

Neoprene

(3) Teflon

(4)

Acrylonitrile

ﬁ/ Which one of the following bases is not
: present in DNA ?

P(’I(Quinoline

(2)

Adenine

(3)

Cytosine

(4) Thymine

WWW.TEKOCLASSES.COM MATHS BY SUHAG K

60. In the reaction,

CELCOOHRTARG . Uls [prallo KO o

— -~ 5

the product C is : CPELW
Che L,

(1) Acetaldehyde C)HL

(2)

% Ethylene

(4)  Acetyl chloride

Acetylene

58. T ¥ foFUE! FEUYN SgAE W1 ST 2

59. =1 & o 9 %9 U DNA H & 9171 S ?

(1)
(2)

(4)

ARIYA BHOPAL PHONE (0755) 32 00 000
60. IffRan 4,

LiAIH, PCl5 Alc. KOH

A B C

CH;COOH
H o wa CRa ©
tfaetfeege
ufafect
ERIEEE
NECECIERIRES

(1)
()
®)
(4)
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